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\ AUTOLJ‘GTOAC dIakomnTNG IoXUog
3VA20405]P360AA0/LSI
rma
l \ TN-C Un =400 V I—
L BonBnrika gopria AVTIKEPAUVIKO
ANeoTH
AvTAia , R MIKpOOUTOuOTOI Bacnlpss aopaieia Baon i.lss aopaheia
futbparos Siakomg ox o =6 A s A N AVt 3 x 3NA3805 MéyeBog 000 P\ 3NAB10 MéyeBog 000
n = 53L63067 C UYKPOTNHA anoounong | VEHIOTPal VvTAia anogrpayyiong -
%E\\I/\%Z’?(}llé}ll'-'BABll%u / /IAUTO a;oq SiakonTng 1o Uog »IAUToiJu/T_\oq glaKc‘)nan 10XU0G IAUTO az'roq 6|aK(\)jnTng 1oxUog 3NH4030 Meyebog 00 3NH4030 Meye6og 00
. 3RV20110JA10/LI 3RV20110JA10/LI 3RV20110KA10/LI AVTIKEPAUVIKO 5
AleaTng , 3RT20151AP01 3RT20151AP01 3RT20151AP01 Anaywyog uneptaang Tnou
Kahwadio / Aywyog Tunoc 2 C
AvThig 0= =a = 55D74231
Kah@d10 / Ayayoc CU 1(3x2,5/-/2,5) —
CU 1(3x2,5/-/2,5)
SUyKkpOTNHA andounonG AvepioTripag AvTAig anoaTpayyiong
Ka. wﬁlo? Aywyog KaAwdio / Aywyog KaAwdio / Avu)v\tl)q
ANECTAG CS 25 25M
EEWTepIkO NepiBAAAOV U 1(3x2,5/-/2,5) CU 1(3x2,5/-/2,5) CU 1(3x2,5/-/2,5)
Rvrhia Un 2400 §
IvnTAPa o L
In T 550 A 3-pole
Un=400  V
3-pole %UVKDOTI’]HCI andopnong QVEIJIOTI’]DCIC, QVT)\ICI anooTpayyiong
IV"]T"]P G IVFITF]PGC Vf’ITf'IP S
0,579 A 579 A 1,03 A
Un =400’ Vv Un = 400 \Y Un =400  V
3-pole 3-pole 3-pole
Bon6nTika poptia
RCQZB D
d In=40A, IAn=30mA
5SM33446
TN-S Un =400 V
BonénTika gopTia
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Mnxavikn Ioxug = 3 kw u =98,81 % |
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s =04 kVA s = 0,4 kVA s = 0,7 kVA
P =103 kw P =03 kw P =0,6 kw
% =-0,3 kvar % =-0,3 kvar =-0,4 kvar
Ibs = 0,6 A Ibs = 0,6 A Ibs =10 A
(L1, 12, 13) (L1, 12, 13) (L1, 12, 13)
D
Cj
s = 8,7 kVA
P =70 kw
% =-5,2 kvar
Ibs =12,6 A
BonénTika gopTia
E
s = 0,1 kVA s =50 kVA s =12 kVA s = 0,2 kVA
P =01 kw P =20 kw P =10 kW P =02 kw —
=-0,1 kvar =-3,0 kvar =-0,7 kvar =-0,1 kvar
Ibs = 0,5 A Ibs = 7,2 A Ibs = 5,4 A Ibs = 1,1 A
©) 3~ (1, 12,53) ©
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